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Grade 7 

A. Answer the following.  (5Qx2M=10M) 
 

1.   How did the king and the hermit help the wounded man? 

2. The king forgave the bearded man. What did he do to show his forgiveness? 

3. What had compelled the king to leave his guards and horse? 

4. Why did the king refuse to give reward to anyone? 

5. What did the squirrel do if someone came too close to his tree? 

B. REFERENCE TO CONTEXT-   (5Qx1M=5M) 

The tail of the squirrel is twisted like a mark. Its colour is grey and while eating a nut it 
sits straight on its legs and hold the nut in its forearms. 

(i) Does a squirrel wear a overcoat? 
(ii) What is the shape of squirrel’s tail? 
(iii) How does it eat a nut? 
(iv) What is its skin colour? 
(v) Choose the past tense of wear from the above lines. 

 

 


